

APO PRODUCTION UNIT, INC. DISPOSAL COMMITTEE



31 MARCH 2022

INVITATION TO BID PB 01-2022

The Disposal Committee hereby invites all interested parties to participate in the public bidding for the sale of various waste and unserviceable materials on "As-Is-Where-Is" basis as indicated below:

Upon payment of a non-refundable **Bid Fee** of **One Thousand Pesos (Php1,000.00)** to the **APO Cashiering Division**, interested buyers may secure the bid documents at:

Where: Materials Control Department (MCD), with office address at ground floor,

PIA Bldg. Brgy. Vasra, Visayas Ave. Quezon City, and telephone number

(02) 8-282-5309 local 103

When: From 31 March 2022 to 5 April 2022, between 8 A.M. to 4 P.M. (except

Saturday and Sunday).

Viewing and Inspection for the said properties may be made on April 1,

2022.

Waste and/or Unserviceable Materials						
LOT # 1						
Item No.	Description	Estimated Quantity (kgs.)	Appraised Value (AV)	Total Price		
1	White Scrap Paper Trimmings	13,218.00 kgs.	Php 7.00/kg	Php 92,526.00		
2	Mixed White Scrap Paper Trimmings	2,159 kgs.	Php 6.00/kg	Php 12,954.00		
3	Colored Scrap Paper Trimmings	36,466.00 kgs.	Php 3.00/kg	Php 109,398.00		
4	Assorted Scrap Paper Trimmings	117,647.20 kgs.	Php 4.00/kg	Php 470,588.80		
5	Newsprint Scrap Paper Trimmings	3,496.00 kgs.	Php 4.00/kg	Php 13,984.00		
6	Unused Corrugated boxes	441 kgs	Php 5.00/kg	Php 2,205.00		
7	Core	2,929.50 kgs.	Php 4.00/kg	Php 11,718		
LOT # 2						
		3,789.67 kgs.				

1	Used Aluminum Plates		Php 43.00/kg	Php 162,955.81
2	Fire Extinguishers (10 lbs.)	6 pcs	Php 30.00/pc	Php 180.00
3	Fire Extinguishers (20 lbs.)	25 pcs	Php 50.00/ pc	Php 1,250.00
4	Fire Extinguishers (50 lbs.)	8 pcs	Php 60.00/ pc	Php 480.00
			TOTAL	Php 878,239.61

List of Documentary Requirements

- 1. Accomplished Bid Proposal Form.
- 2. For Company/Corporation Mayor's/Business permit issued by the municipality or city where the principal place of business is located.
- 3. Business Registration Certificate from SEC if corporation and DTI if sole proprietorship or CDA for cooperatives.
- 4. For Individual Two (2) valid IDs
- 5. Minimum bond requirement equivalent to ten (10%) percent of the total bid price.
- 6. Only one representative is allowed to attend on the said bidding.

This authority reserves the right to decline any or all bids, waive any formality found therein or accepts the bid proposal which in its decision is the most beneficial to the government. The Authority's decision on the matter shall be obligatory and final.

Authority to dispose through public bidding of the enclosed materials is embodied on the approved memorandum issued by the office of the Chairman & president dated February 23, 2022.

MARCH 2022						
Sun	Mon	Tue	Wed	Thu	Fri	Sat
20	21	22	23	24	25	26
27	28	29	30	10:00 A.M. Inspection/COA 1 P.M. Posting	1 Viewing & Inspection	2

APRIL 2022						
Sun	Mon	Tue	Wed	Thu	Fri	Sat
3	Pre-Bid Conference 10:00 AM	5	Submission and opening 1:30 PM	7 Post Qualification	8 Evaluation	9
10	11 Award	12 Hauling	13	14	15	16
17	18	19	20	21	End of Hauling	23
24	25	26	27	28	29	30
1	2	3	4	5	6	7